Selection Tinv =01 750y =03 iy = 0.6 7y = 0.9

pr(J12) >200GeV, n(J12) < 2.4 95.5 89.9 63.0 10.8
Rt > 0.15 13.6 40.2 65.1 81.6
An(J1,]2) < 15 77.3 77.0 78.5 78.2
mt > 1.5TeV 94.6 91.1 72.5 45.2
Ny, =0 96.2 96.5 97.3 98.2
Ne =0 99.4 99.4 99.4 99.6
p?iss filters 99.8 99.8 99.9 99.9
AR(j1,2, Chonfunctional) > 0.1 94.3 95.0 95.4 96.0
veto f,(j1) > 0.7 & pr(j1) > 1.0 TeV 99.7 99.6 99.5 99.2
APmin < 0.8 88.5 86.3 80.1 47.9
Efficiency [%] 7.5 20 17 1.3
high-Rt 38.3 46.7 61.1 78.1
low-Rt 61.7 53.3 38.9 21.9
high-SV]2 32.1 35.5 33.1 12.8

low-SV]2 52.2 41.7 219 3.5



